
2575

3A8632ZAF
 KO

 -  

Fast-Flo® 

       .      .

EX         (  4 ).

180 psi (1.2 MPa, 12.4 bar)    
180 psi(1.2 MPa, 12.4 bar)   

   4  .

  
      

  .    
 .

    
ETL   

. (UL   79,  
    

 ).

1:1 

 

   
 

   
 



 

2 3A8632ZAF

   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .4

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .5

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .8

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .9

   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .10

   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .11

   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .12

    . . . . . . . . . . . . . . . . . . . . . . . . . . . . .17

    . . . . . . . . . . . . . . . . . . . . . . . . . . . . 18

    . . . . . . . . . . . . . . . . . . . . . . . . . . . . 23

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 34

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 36

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 37

Graco   . . . . . . . . . . . . . . . . . . . . . . . . . . . 38

    , , ,     .     
        .         
   .              

  .

   

           .

•      .
•      , ,  .
•      .     Graco  .
•    .   Graco   .
•   .        .
•            .    

       .
•         .     

  .      .
•   .      .
•     .
•    ,        . 
• Graco  82°C(180°F)  –40°C(–40°F)    .
•       .
•    .
• ,     ,     .



3A8632ZAF 3

    

 ,  ,         
     .

•     . 8    .
•              

 .       .
•             

  .
•     ,       .
•          .
•         .
•       .
•               

.
•        .

   

     ,          .

•       .
•     .         

 .
•             .
•       , , ,  .

   

      .

•           .
•     (11 )        .



  

4 3A8632ZAF

 

ETL  
  NFPA( )   30, 

      33    
       , 

, , ,   ETL . 
ETL   ASTM   A, C, H, I  IRM 
3   ,    

       
 .    , 

  . 

 

    

‡  686445    (  
 206265

*      .

**     .

 
  ,  , , ATF, 

,       
.

 

    

‡  226951  457 mm(18 )    
  .    724 mm

(28.5 ) .    1180 mm
(46.4 ) .

 
     .

 

    

 
 

**226943
 B

,  14, 18

*226944 
 B

,  14, 19

*226945 
 B

, 
 

15, 28

 
 

**226940
 B

,  12, 18

**226941 
 B

,  12, 19

**226942 
 B

, 
 

13, 27

686445 
 A‡

,  12, 19

II 2 G
Ex h IIB T6 Gb

II 1/2 G T6
ITS03ATEX11227

 
 

 226948
 B

,  14, 24

 226952 
 B

,  15, 33

 
 

 226947
 B

,  12, 24

 226951‡ 
 B

,  16, 25

 226953 
 B

,  13, 32

 
 

*237130
 B

,  14, 20

*237131
 B

, PTFE 14, 22

*237132
 B

, 
PTFE 

15, 30

 
 

**237133
 A

,  12, 18

**237134
 A

, PTFE 12, 21

**237129
 A

, PTFE 13, 29



3A8632ZAF 5

 
•  2       

       .
      

Graco  .

•    Graco  .

•        12–
33    .

• ETL  .     
 ETL     

.

 

       
       

.        
     .  

  .

1. ETL  : , ,  
.  1  . (x)  . 12 ga

(1.5 mm2)  (Y)     
 (W)  (eye)    

(X)   .    
  .   237569 

   .

2. ETL  :  1  .  
(Z)  .  (Z)  

 (W)      

. (X)  . 12 ga(1.5 mm2) 
(Y)      (W)

(eye)    (X)   
.      
.   222011  /   
 .

3.    :   .
4.  :    .
5.  :       

  .
6.   :   .
7.   :   .
8.         

.     . 
      
   .

   

   .  
     

.      (
 3)  .

 1



 

6 3A8632ZAF

 

       
. Graco     

  . 200 (55 )    
  (B)   Bung   
   13 mm(0.5 )  

 .  (A)     
   .    

       .  
    .

:  ,  ,    
 (  36)  .

:
A  
B  
C   
D    
E   
F   
G   
H  
J  
K   

(226951    )
L   
M   
CC   

(  226951 )

 2

 226951 



3A8632ZAF 7

 
   2  .

:       
     .

        
 (K)   .  226951   

 (CC)    (  3 
).       (LL)  

      
.

        
(C)   (  )   

  .    
(D)    .    

(CC)(  )  .   
(E)        

     .

      (J)   
  .     (L)
  (F)  ,    

.

  (M)  3/4 npt(f)   
.

 226951 

      ,  
  Bung  , (B)  Bung 
 .   13 mm(0.5 )  
(B)    . 

 (A)  .  2  .

  

    2   34  
  .

        
        

       
  (D)    (G)   

.

   (D)    
       . 
       

     .  
  .

  (G)       
,        .

       
      

.

   O-    ,  
      .

 226951 

 3



 

8 3A8632ZAF

 

1.    .
2.    (  )  

.
3.      

     .
4.   (  )    

 ,    
.

5.        
.

       
      , 

    .    
 .

   
   ,    
    .    
      

   .

      
      , 

  ,    (  
).

  5       
 .  (N)     

  .  4  . 
    .

   
 (K)  (CC)    
     (L)  .

( :  3   5).     
 .

 (K)  (CC)    
5~20     .    

 .    
     .  
 ,     

    .   
      .

       
   .

 

1.   (L)  .
2. .

  

      
    . 
    ,     

         
   .

•       
•   
•      
•     

 4

       
    ,   ( )

.



3A8632ZAF 9

  1/3  Graco Throat Seal Liquid(TSL)  
  , 1/2    , 
       

  .  5  .

      
   .    

   (DD)  .  5  
.

   (C)    
  .    
       
 15    ,   
      .

      .
      
  .     

     . 
         

      
    .  
   .

  (P)    .
        

 .  5  .  
        

 .

       
    ,   (8
)  .

       
.

 5



  

10 3A8632ZAF

 
1. .
2.        

  .
       

    ,   (8
)  .

  .    
.

 .   
 307456  .

    
.

    
(   ).

   .     .

    .      
.

    
.

   .

    
 .

    .      
.

  .     
 .

    
.

   .

    
 .

    
.

    
.

    
.

   .

    
 .

    
.

    
.

    
.

   .

  .   .     
 .

    
.

 .



 

3A8632ZAF 11

 

  

1.  .
2. .    .
3.  6  .    (103)

.
4. (105)  (104)   .
5.  (115)   (114)   

.  (15)     (S) 

.
6.     12–16   

 .      
  17–33  .  

       307456
.

   
1.       (15) 

    . O (5)  
    .

2. (T)     (S)  
.  6  .

3.  (15)       
.    (104  105)

.
4.     (106)  

.   ,     
(106)    ,   15 N•m

(8ft-lb)   .

: (T)        
.

5.       .

       
    ,   (8
)  .

  .

  .

15 N•m(8 ft-lb)   .

 6

1

2

3



  

12 3A8632ZAF

 

Bung    ,  
 226940,  B,  
 226941,  B,  
 226947,  B,  
 237133,  A,  
 237134,  A, PTFE 
 686445,  A,  ,  

        
.

‡     , 
 .

  

103 104541 , , M8,    3

104 15B249 , 1

105 15B250 1

106 177171  3

107 190165 ,  ,  237133 
 237134  

1

169969 ,     1

108 206264   , 109-112, 
116, 117  

1

109 157628 , O- ,  1

110 165722 1

111 166531 ,  1

112 166529 1

113 190164 ,  ,  237133 
 237134 

1

114558 ,     1

114 215953‡  ,  226940  
237133 ,  18 

1

215954‡  ,  226941,  
19 

1

237449  ,  237134,  
21 

1

218113‡  ,  226947,  
24 

1

115 223099    
 307456  

1

116 166532  1

117 164698 , 1

118 206265 ,  686445 
(  )

1

 226940 



 

3A8632ZAF 13

 

Bung    ,  
 226942,  B,  
 226953,  B,  
 237129,  A, PTFE 

        
.

‡     ,  
 .

  

102 215961    , 
103-113, 116, 117  

 1

103 104541 , , M8,   3

104 15B249 , 1

105 15B250 1

106 177170  3

107 190165 ,  ,  237129 

169969 ,     1

108 206264   , 109-112, 
116, 117  

1

109 157628 , O- ,  1

110 165722 1

111 166531 ,  1

112 166529 1

113 190164 ,  ,  237129 1

114558 ,     1

114 215955‡  ,  226942,  
27 

1

220440‡  ,  226953,  
32 

1

237253‡  ,  237129,  
29 

1

115 223099    

 307456  

1

116 166532  1

117 164698 , 1

 226953 



  

14 3A8632ZAF

 

  ,  
 226943,  B,  
 226944,  B,  
 226948,  B,  
 237130,  A,  
 237131,  A, PTFE 

        
.

‡     , 
 .

  

103 104541 , , M8,   3

104 15B249 , 1

105 15B250 1

106 177171  3

107 190165 ,  ,  237130 
 237121 

169969 ,     1

108 206264   , 109-112, 
116, 117  

1

109 157628 , O- ,  1

110 165722 1

111 166531 ,  1

112 166529 1

113 190164 ,  ,  237130 
 237131 

1

114558 ,     1

114 215956‡  ,  226943,  
18 

1

215957‡  ,  226944,  
19 

1

218114‡  ,  226948,  
24 

1

237254‡  ,  237130,  
20 

1

237255‡  ,  237131,  
22 

1

115 223099    
 307456  

1

116 166532  1

117 164698 , 1

 226943 



 

3A8632ZAF 15

 

  ,  
 226945,  B,  
 226952,  B,  
 237132,  A, PTFE 

        
.

‡     ,  
 .

 

102 215961    , 
103-113, 116, 117  

 1

103 104541 , , M8,   3

104 15B249 , 1

105 15B250 1

106 177170  3

107 190165 ,  ,  237132 

169969 ,     1

108 206264   , 109-112, 
116, 117  

1

109 157628 , O- ,  1

110 165722 1

111 166531 ,  1

112 166529 1

113 190164 ,  ,  237132 1

114558 ,     1

114 215958‡  ,  226945,  
28 

1

220439‡  ,  226952,  
33 

1

237256‡  ,  237132,  
30 

1

115 223099    
 307456  

1

116 166532  1

117 164698 , 1

 226945 



  

16 3A8632ZAF

 

Bung    ,  
724 mm(28.5 )~1180 mm(46.4 ) (  456 mm[18 ] )  Bung   .

 226951,  B,  

        
.

‡     , 
 .

  

103 104541 , , M8,   3

104 15B249 , 1

105 15B250 1

106 177171  3

107 169969 ,  1

113 114558 ,   1

114 218116‡  ,  226951,  
28 

1

115 223099   .   
307456  .

1

118 218316   . 107, 
113, 119-123  

1

119 100403 , ; 1/8 npt 1

120 104655 ,  , 0–60 psi
(0-0.4 MPa, 0-4.2 bar), 1/8 npt 

1

121 104815  , 0-60psi 
(0-0.4 MPa, 0-4.2 bar), 308167

 

1

122 103656 , ; 1/8 npt 1

123 100030 , , 14 npt(m) x 
1/8 npt(f)

1



  

3A8632ZAF 17

  

  ,  ,   PTFE 
    .   
      .

•  215953,  18.
•  215956,  18.
•  215954,  19.
•  215957,  19.
•  237254,  20.
•  237449,  21.
•  237255,  22.

 

1.  11       
 .

2.        
.

3.     .   
       

   .    
 .

 

1.    (13)   
(29)  .     

 .

:  237254  237255  (28)   
(23)      .

2.   .  
   .

 

1.     (6)  
(13)    .  

   .   
     , 

     .
2.  (16)    (17)   

(18)  .  (22)  .

3.     . 
 .    

 u  (21)    
.  (22)   (18)  
 31 N•m(23 ft-lb)  .

4.   (17)     
  (15)   .  

(16)     33 N•m (24 ft-lb) 
.  (16)  3.1 mm(0.125 in.)  

   (19)   
 .

 

1.    (13)   
.  (1)  ,  (15)  
 (6)   .   

      
,      .

2.    (6)  .
3.        

.    .   
    . V

      .

:   215953, 215956, 237254  
PTFE (3)  2   V (4)  .

4.  (15)     (1)  
 .

5.        
.       
.

6.  11       
 .

      
  . 



   

18 3A8632ZAF

  

 215953  ,  D
200 (55 ) , ,  

 215956  ,  C
 , ,  

*     213012( )   
.

  

1 177152  1
2* 178543 , , 1
3* 172487 V , PTFE 1
4* 172384 V , 2
5* 172385 , , 1
6 178542 , 1
7 101281 , 1
8 104537 O , PTFE 2
9 214583  

10  12  
(  215953 )

1

10 172405 , 1
12 222308 , Bung, 1
13 172416 (  215953) 1

177165 (  215956) 1
14 177156 O ,  1
15 217189 , 1
16 105775 , ; M14 x 1.5 2
17 177150 , (  215953) 1

177160 , (  215956) 1
18 177168 , , 1
19 177155 , 1
20 172393 , 1
21* 172392 , , 1
22 177151 , 1
23 217102 , 1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

 215953 .

 215953 

1

2

3

4

5



  

3A8632ZAF 19

  

 215954  ,  D
200 (55 ) , ,  

 215957  ,  C
 , ,  

*     215964( )   
.

  

1 177152  1
2* 178543 , , 1
3* 177164 V , 1
5* 172385 , , 1
6 178542 , 1
7 101281 , 1
8 104537 O , PTFE 2
9 214583  

10  12  
(  215954 )

1

10 172405 , 1
12 222308 , Bung, 1
13 172416 (  215954) 1

177165 (  215957) 1
14 177156 O ,  1
15 217189 , 1
16 105775 , ; M14 x 1.5 2
17 177150 , (  215954) 1

177160 , (  215957) 1
18 177168 , , 1
19 177155 , 1
20 172393 , 1
21* 177159 , , 1
22 177151 , 1
23 217102 , 1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

 215954 .

 215954 

1

2

3

4

5



   

20 3A8632ZAF

  

 237254  ,  A
 , ,  

*     213012( )   
.

  

1 177152  1
2* 178543 , , 1
3* 172487 V , PTFE 1
4* 172384 V , 2
5* 172385 , , 1
6 178542 , 1
7 101281 , 1
8 104537 O , PTFE 1
13 190063 1
14 177156 O ,  1
15 217189 , 1
16 105775 , ; M14 x 1.5 2
17 177160 ,  1
18 177168 , , 1
19 177155 , 1
20 172393 , 1
21* 172392 , , 1
22 177151 , 1
23 237493 , 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

1

2

3

4



  

3A8632ZAF 21

  

 237449  ,  A
200 (55 ) , , PTFE 

*     213013( )   
.

  

1 177152  1
2* 178543 , , 1
3* 172487 V , PTFE 3
5* 172385 , , 1
6 178542 , 1
7 101281 , 1
8 104537 O , PTFE 2
9 214583  , 10  12  1

10 172405 , 1
12 222308 , Bung, 1
13 172416 1
14 177156 O ,  1
15 217189 , 1
16 105775 , ; M14 x 1.5 2
17 177150 ,  1
18 177168 , , 1
19 177155 , 1
20 172393 , 1
21* 172489 , , PTFE 1
22 177151 , 1
23 217102 , 1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

1

2

3

4



   

22 3A8632ZAF

  

 237255  ,  A
 , , PTFE 

*     213013( )   
.

  

1 177152  1
2* 178543 , , 1
3* 172487 V , PTFE 3
5* 172385 , , 1
6 178542 , 1
7 101281 , 1
8 104537 O , PTFE 1
13 190063 1
14 177156 O ,  1
15 217189 , 1
16 105775 , ; M14 x 1.5 2
17 177160 ,  1
18 177168 , , 1
19 177155 , 1
20 172393 , 1
21* 172489 , , PTFE 1
22 177151 , 1
23 237493 , 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

1

2

3

4



  

3A8632ZAF 23

  

  ,   
    .  

      .

•  218113,  24.
•  218114,  24.
•  218116,  25.

 

1.  11       
 .

2.        
.

3.   218112    .  
       

     .

 

1.    (13)   
(29)  .     

 .
2.   .  

   .

 

1.     (6)  
(13)    .  

   .   
     , 

     .
2.  (16)    (17)   

(18)  .  (22)  .
3.     . 

 .     
 u  (21)    

.  (22)   (18)  
31 N•m(23 ft-lb)  .

4.   (17)     
  (15)   .  

(16)     33 N•m (24 ft-lb) 
.  (16)  3.1 mm(0.125 in.)  

   (19)   
 .

 

1.    (13)   
.  (1)  ,  (15)  
 (6)   .   

      
,      .

2.    (6)  .
3.        

.    .   
     . U

      .
4.  (15)     (1)  

 .

5.        
.       
.

6.  11       
 .

      
  . 



   

24 3A8632ZAF

  

 218113  ,  A
200 (55 ) , ,  

 218114  ,  A
 , ,  

*     218112( )   
.

  

1 177152  1
2* 179925 , 1
3* 107228 , u , -N 3
4* 107227 O , -N 1
5* 179924 , 1
6 178542 , 1
7 101281 , 1
8 104537 O , PTFE 2
9 214583  

10  12  
(  218113 )

1

10 172405 , 1
12 222308 , Bung, 1
13 172416 (  218113) 1

177165 (  218114) 1
14 177156 O ,  1
15 217189 , 1
16 105775 , ; M14 x 1.5 2
17 177150 , (  218113) 1

177160 , (  218114) 1
18 177168 , , 1
19 177155 , 1
20 172393 , 1
21* 177159 , , 1
22 177151 , 1
23 217102 , 1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

     
.

    .

 218113 .

 218113 

1

2

3

4

5



  

3A8632ZAF 25

  

 218116  ,  A
 , ,  

*     218112( )   
.

  

1 177152  1
2* 179925 , 1
3* 107228 , u , -N 3
4* 107227 O , -N 1
5* 179924 , 1
6 178542 , 1
7 101281 , 1
8 104537 O , PTFE 2
9 214583  

10  12  .
1

10 172405 , 1
12 222308 , Bung, 1
13 177165 1
14 177156 O ,  1

15 217189 , 1
16 105775 , ; M14 x 1.5 2
17 177160 ,  1
18 177168 , , 1
19 177155 , 1
20 172393 , 1
21* 177159 , , 1
22 177151 , 1
23 217102 , 1
33 179929 , , 1-1/2” x 3/4 npt 1
34 179931 , , 1
35 179930 , , 1
36 104093 O , -N 2

  

31 Nm(23 ft-lb)  
.

33 Nm(24 ft-lb)  
.

 V  
   .

   
 .

1

2

3

4



   

26 3A8632ZAF

  

  ,    PTFE  
    .   
      .

•  215955,  27.
•  215958,  28.
•  237253,  29.
•  237256,  30.

 

1.  11       
 .

2.        
.

3.     .   
       

   .    
 .

 

1.    (13)   
(29)  .     

 .
2. (28)   (23)     

 .
3.   .  

   .

 

1.     (6)  
(13)    .  

   .   
     , 

     .
2.  215955  237253 ,  (16)  

 (17)   (18)  . 
 (22)  .  215958  237256
,  (29)    (30)  .
     (22)   
(15)  . (25)    

.
3.     . (25) 

  (22)    
 .   .

     u  (21)
   .   

  .    
(6)  (13)    
.

:  215955  237253 ,   
(17)       (15)

 .  (16)    
33 N•m (24 ft-lb)  .  (16)
3.1 mm(0.125 in.)     (25)

  .

 (13)       
.

 

1.    (13)   
.  (1)  ,  (15)  
 (6)   .   

      
,      .

2.    (6)  .
3.        

.    .   
    . V

      .
4.  (15)     (1)  

 .

5.        
.       
.

6.  11       
 .

      
  . 



  

3A8632ZAF 27

  

 215955  ,  B
200 (55 ) , ,  

*     215964( )   
.

  

1 180049 , , 1
2* 178543 , , 1
3* 177164 V , 3
5* 172385 , , 1
6 210876 , 1
8 104537 O , PTFE 1
9 - - -  

10, 11, 12  .
1

10 172405 , 1
11 104587 , M8 x 1.25 1
12 210877 , Bung, 1
13 178863 , 55 , 1
14 177156 O ,  1
15 217211 , 1
16 105776 , ; M14 x 1.5 2
17 177149 ,  1
18 177175 , , 1
20 172393 , 1
21* 177159 , , 1
22 172495 , , 1
23 218427 , , 1
24 172391 , , PTFE 1
25 104585 , , 22 mm 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1

65 Nm(47 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

  .

1

2

3

4

5



   

28 3A8632ZAF

  

 215958  ,  B
 , ,  

*     215964( )   
.

  

1 180049 , , 1
2* 178543 , , 1
3* 177164 V , 3
5* 172385 , , 1
6 210876 , 1
8 104537 O , PTFE 1
13 172494 , 1
14 177156 O ,  1
15 217212 , 1
20 172393 , 1
21* 177159 , , 1
22 172495 , 1
23 218427 , , 1
24 172391 , , PTFE 1
25 104585 , , 22 mm 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1
29 100063 , 2
30 172389 ,  1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

1

2

3

4



  

3A8632ZAF 29

  

 237253  ,  A

200 (55 ) , , PTFE 

*     213013( )   
.

  

1 180049 , , 1
2* 178543 , , 1
3* 172487 V , PTFE 3
5* 172385 , , 1
6 210876 , 1
8 104537 O , PTFE 1
10 172405 , 1
11 104587 , M8 x 1.25 1
12 210877 , Bung, 1
13 178863 , 55 , 1
14 177156 O ,  1
15 217211 , 1
16 105776 , ; M14 x 1.5 2
17 177149 ,  1
18 177175 , , 1
20 172393 , 1
21* 172489 , , PTFE 1
22 172495 , , 1
23 218427 , , 1
24 172391 , , PTFE 1
25 104585 , , 22 mm 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1

65 Nm(47 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

  .

1

2

3

4

5



   

30 3A8632ZAF

  

 237256  ,  A
 , , PTFE 

*     213013( )   
.

  

1 180049 , , 1
2* 178543 , , 1
3* 172487 V , PTFE 3
5* 172385 , , 1
6 210876 , 1
8 104537 O , PTFE 1
13 172494 , 1
14 177156 O ,  1
15 217212 , 1
20 172393 , 1
21* 172489 , , PTFE 1
22 172495 , 1
23 218427 , , 1
24 172391 , , PTFE 1
25 104585 , , 22 mm 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1
29 100063 , 2
30 172389 ,  1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

1

2

3

4



  

3A8632ZAF 31

  

  ,   
    .  

      .

•  220440,  32.
•  220439,  33.

 

1.  11       
 .

2.        
.

3.   218112    .  
       

     .

 

1.    (13)   
(29)  .     

 .
2. (28)   (23)     

 .
3.   .  

   .

 

1.     (6)  
(13)    .  

   .   
     , 

     .
2.  220440 ,  (16)    

(17)   (18)  .  
(22)  .

 220439 ,  (29)    (30)
.      

(22)   (15)  . (25)  
  .

3.     . (25) 
  (22)    
 .   .
     u  (21)

   .   

  .    
(6)  (13)    
.

:  220440 ,   (17)  
     (15)   
.  (16)     33 N•m

(24 ft-lb)  .  (16)  3.1 mm
(0.125 in.)     (25)  

 .

 (13)       
.

 

1.    (13)   
.  (1)  ,  (15)  
 (6)   .   

      
,      .

2.    (6)  .
3.        

.    .   
     . V

      .
4.  (15)     (1)  

 .

5.        
.       
.

6.  11       
 .

      
  . 



   

32 3A8632ZAF

  

 220440  ,  A
200 (55 ) , ,  

*     218112( )   
.

  

1 180049 , , 1
2* 179925 , 1
3* 107228 , u , 1
4* 107227 O , -N 1
5* 179924 , 1
6 210876 , 1
8 104537 O , PTFE 1
9 - - -  , 10, 11, 12  1

10 172405 , 1
11 104587 , M8 x 1.25 1
12 210877 , Bung, 1
13 178863 , 55 , 1
14 177156 O ,  1
15 217211 , 1
16 105776 , ; M14 x 1.5 2
17 177149 ,  1
18 177175 , , 1
20 172393 , 1
21* 177159 , , 1
22 172495 , , 1
23 218427 , , 1
24 172391 , , PTFE 1
25 104585 , , 22 mm 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1

65 Nm(47 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

  .

1

2

3

4

5



  

3A8632ZAF 33

  

 220439  ,  A
 , ,  

*     218112( )   
.

  

1 180049 , , 1
2* 179925 , 1
3* 107228 , u , 1
4* 107227 O , -N 1
5* 179924 , 1
6 210876 , 1
8 104537 O , PTFE 1
13 172494 , 1
14 177156 O ,  1
15 217212 , 1
20 172393 , 1
21* 177159 , , 1
22 172495 , 1
23 218427 , , 1
24 172391 , , PTFE 1
25 104585 , , 22 mm 1
26 172399 ,  1
27 177230  1
28 104586 , , 32 mm 1
29 100063 , 2
30 172389 ,  1

31 Nm(23 ft-lb)  .

33 Nm(24 ft-lb)  .

 V     
.

    .

1

2

3

4



 

34 3A8632ZAF

210881   

.  307458 .

210880    

 210 (55 )    .

214583 

222011    

: 7.6 m(25 ft).

237569    

: 7.6 m(25 ft).

1 107558 ,   , M8 x 1.25 2
2 104572  , ,  8 2
3 172405 1
4 172428 1
5 172429 1

1 107558 ,   , M8 x 1.25 2
2 104572  , ,  8 2
3 159056 ,  1
4 159057 1
5 172405 1
6 172428 1
7 172429 1
8 210879 , 1

1 172405 , 1
2 222308 , cst 1

210877 , sst 1



3A8632ZAF 35

   ( ) 

2.1 MPa(21 bar, 300 psi)       
        

.

107141 3/4 npt(m x f)   
107142 1/2 npt(m x f)   .

106149   

1.8 MPa, 18 bar(250 psi)    1/2 npt(f) 
  .

214848   

1.8 MPa, 18 bar(250 psi)    1/2 npt(f) 
  .

218316   

1/8  , 0-0.4 MPa, 0-4.2 bar(0-60 psi)  
    ,    . 19

 .

206994 TSL(Throat Seal Liquid)

  . 0.24 (8 oz.).

204574  

40 (10 )   60 (16 ) .  
    1:1     

  .     
 .

200326  

200 (55 )       1:1
      .

101078 Y  

3.5 MPa, 35 bar(500 psi)    3/4 npt(f) ,
 20  .

206265 

     .
, 3/4 npt .

215965   

  265 mm(10.4 ), 1:1   
1-1/2 npt(f)  .

.  307459 .

214951   238651 

1.2 MPa, 12 bar(175 psi)    7.6 m(25 ft),
1/2 npt(m) x 3/4 npt(m), .



 

36 3A8632ZAF

*  1614 mm (63.5 in.),   1180 mm (46.4 in.)  .

226943
226944
226945
226948
226952( )
237130
237131
237132

226940
226941
226942
226947
226953( )
237129
237133
237134
686445

BA 2” npt(m) 

  
A
 

B
 

C
 

D
 

226943, 226944, 226948, 237130, 237131 615 mm (34 in.) 181 mm (7.1 in.) 1-1/2 in. npt(f) 3/4 in. npt(f)
226945, 226952, 237132 685 mm (27 in.) 250 mm (9.8 in.) 1-1/2 in. npt(f) 3/4 in. npt(f)
226940, 226941, 226942, 226947, 226953, 
237129, 237133, 237134, 686445

1315 mm (51.7 in.) 880 mm (34.6 in.) 1-1/2 in. npt(f) 3/4 in. npt(f)

226951 1158 mm (45.6 in.) 724 mm* (28.5 in.)  3/4 in. npt(f)

BA



 

3A8632ZAF 37

 

    226951: 0.3~0.4 MPa, 3~4.2 bar (0 to 60 psi)
  : 0.3~1.2 MPa, 3~12 bar (40 to 180 psi)

 4 /  (1 gpm)   0.05 m3/min (1.5 cfm/gal)
(0.5 MPa, 5.6 bar (80 psi) )

   100 / , 15.1 / (4 gpm)

  1/4 npt(f)

  1-1/2 npt(f)

  3/4 npt(f)

  120°F (49°C)

  100 psi (0.7 MPa, 7 bar)  72 dB(A)
65 psi (0.45 MPa, 4.5 bar)  70 dB(A)

  100 psi (0.7 MPa, 7 bar)  82 dB(A)
65 psi (0.45 MPa, 4.5 bar)  81 dB(A)

 : 11 lbs (5 kg)
 : 20 lbs (9 kg)

  226940, 226943, 237130, 237133:
, 303, 304, 316 , ,   
 ,     , PTFE,  

 226941, 226944, 686445: , 303, 304, 316 
,    ,    

 , PTFE,  , 

 243751  243752: , 303, 304, 316 
,    ,     , 

PTFE,  

 226942  226945: 303, 304, 316 , 
, PTFE,  , 

 237129  237132: 303, 304, 316 , 
, PTFE,  , 

 226947, 226948, 226951: 303, 304, 316 
, -N,    ,    
 , PTFE,  , 

 226952  226953: 303, 304, 316 , 
, PTFE, 



                 .  
Graco           .

 . This manual contains Korean. MM 307427
Graco : Minneapolis

 : , , , 

GRACO  AND SUBSIDIARIES • P.O. BOX 1441 • MINNEAPOLIS MN 55440-1441 • USA
Copyright 2018, Graco Inc.  Graco   ISO 9001   .

www.graco.com
AF, 2019  12

Graco  
Graco      Graco    Graco   ,       

        . Graco        
Graco   12   Graco          . ,   Graco

     ,      .

        , , , ,  , , ,   Graco  
     ,      Graco      .  Graco
   , ,        Graco    , ,  

   , , ,      ,     Graco   .

       Graco        .  
 Graco        .        .

            ,   , , 
  .

                    
  .

   Graco          .   (  ,
 ,  ,       ,          )

  .      2    .

Graco   Graco    , ,           
    .  Graco    ( :  , ,  )   

      . Graco           .

Graco     ,         , Graco      
Graco        ,      , ,    

   .

FOR GRACO CANADA CUSTOMERS
The Parties acknowledge that they have required that the present document, as well as all documents, notices and legal proceedings
entered into, given or instituted pursuant hereto or relating directly or indirectly hereto, be drawn up in English. Les parties reconnaissent
avoir convenu que la rédaction du présente document sera en Anglais, ainsi que tous documents, avis et procédures judiciaires
exécutés, donnés ou intentés, à la suite de ou en rapport, directement ou indirectement, avec les procédures concernées.

Graco 
Graco     www.graco.com  .

  www.graco.com/patents  .
  Graco       .

: 612-623-6921    : 1-800-328-0211, Fax: 612-378-3505


	펌프 모델
	설치
	작동
	유지보수
	문제 해결
	펌프 수리
	펌프 부품
	하부 펌프 정비
	하부 펌프 부품
	하부 펌프 정비
	액세서리
	치수
	BA
	기술 데이터
	Graco 표준 보증

